
78,544 + 34,675 = 987,433 – 253,146 = 345,122 + 342,392 = 

5,261 x 4 = 560,000 ÷ 1000 = 18 x 25 = 

45, 280 + 5,942 = 53,687 – 18, 671 = 8,500 ÷ 6 = 

5975 ÷ 5 = 286,571 – 100,000 = 5,540 x 100 = 

3,274 x 7 = 486,524 + 115,761 = 2476 ÷ 8 = 

67,511 x 10 = 78,000 ÷ 10 = 87 x 14 = 

 



8,331 + 6,773 = 9,315 – 8,224 = 789 + 636 = 

78 x 4 = 9900 ÷ 10 = 45 x 6 = 

9, 765 + 4,923 = 7,637 – 1,000 = 765 x 2 = 

650 ÷ 10 = 7,517 – 100 = 640 x 10 = 

742 x 4 = 875 + 726 = 5,633 – 1000 = 

677 x 10 = 5,000 ÷ 10 = 87 x 8 = 

 


